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B.Tech 8th gepester Exam 2020

AIRPORT PLANNING AND DESIGN
Time : 3 hours Full Marks : 70

Instructions -

(i) The marks are indicated in the right-hand margin.
(ii) There are NINE questions in this paper.
(iii) Attermpt FIVE questions in all,
(iv} Question No. 1 is compulsory.

1. Choose the correct answer of the foilnwing
(any seven) : 2x7=14

fa) The head wind i8 the direction of wing

(i) similar to the direction of landing
and takeoll

(i) opposite 10 the directigy, of landing
- and takeﬂ”

fiii) which does  fot depeiid 318
direction of landing ang lakeoty

fiv) flowing with standard temperanire
of 15 °C

{ Tuim Over )
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1 that
(b) Normal landing ¢€aS€S required
aircraft should come to a stop

g i ce
il within 60% of landing distan
i i e
(i) within 40% of landing distanc
fiti) within 70% of landing distance

fiv] Does not depend on landing
distance

fc) Total correction for clevation plus
temperature is

.&;:/55% of basic runway length
(i} 40% of basic runway length
(it} 25% of basic runway length

fiv) 40% of runway length

(d) According to the ICAQ, al]
the funway length is

markingg on
i} yvellow

1) white

ftii) black

(v} reg
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en ould not
(e) Longitudinal g and b and 5
a
(i) exceed 2:5% for
for other t}fpE=5 4 b aﬂd 3%

(i} exceed 1-5% for @ an
A~ for other types
: yp

and b and 2

(i} exceed 3-5% for @
for other types

(iv) None of the above

(1 Runway saturation is defined as

_{i) when runway loaded to
capacity

(ii) when runway tends to loading of

partial capacity

(iii) it does not depend on loading

capacity

(iv) None of the above

() The size of holding aprgp depend
S on

(i} peak hour aircraft Movernent
{ii) aircraft size

fiti) ground man€uver;,

teristics g charac-

"_ﬁ'uj All of the above

20AK/910 { Turn Over 7

fh) According to the ICAO, the radius of

fillet
{i) should not be more than the width
of taxiway
(i) should not b€ less than the width
of taxiway
(iii} docs not dépend on width of
taxiway
fiv) None of the above

(i The main disadvantage of angle nose
out parking configuration of aircraft is
that the

(i) aircraft rear loading door is far
away from terminal building

(ii) hot blast is directed towards the
terminal building

(iti} overall apron area required is more
iv) All of the above

() The minimum width of clearway is
(i) 50 m
fii} 100 m
L_/(W 150 m
(iv) 250 m
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(a)

(b

(a)

(b}

(a)

(b)

of aircraft
What are the different tﬁ;lpﬂt;pe.
prnpulsion? Discuss €2¢ 'h
whicC
Enumerate the yarious factors

u i i while
in view

yo would keeP ort.

selecting a suitable site for an & p

to be

Classify the cases that arc .
basic

considered in  deciding the
runway length.

Write short notes on the following :
(i} Zoning Laws

(i) Clear Zone

(iij) Approach Zone

(iv) Approach Surface

Explain the necessity of airport
classification. Give different systems of

classification of airports.

In the grading operations for runway, it
a rising gradient of
falling gradient of
an upgrade of

is proposed to have
0:5% meeting a '¢
0'7%. There is agan .
0:40%. Determine the length of vertical

curves and the distance detween grade
changes of runway- Assume that the
runway is requirf:d to handle Jet
aircrart,

>

7

7. {a) Define the term °

6 )

. the variots factors which affect
ppl®t L of €XIL taxiway, What do

S. (a) tion

the iﬂ;jﬂﬁwnd by optimum location of

ou ¥

gxir caxid?

the  dif i
(b What f ' ftamnt parking

configurations or an aircraft? Explain
he merits and demerits of each method
of parking.

6. (@) What are the design considerations for

a taxiway lighting?

(b} Distinguish between terminal apron
and cargo apron.

. gate capacity’. Explain
. actors  on which the gate
cupancy time depends.

(6] Wh
o ZE are the different methods adopted
T trave] demand forecasting?

) Explain

layoy
“ontigy

» With neat sketch, the typical
of ajrport based on runway
fation.

6
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(b)

9. fa)

(b}

(7 )

ion of
levation

An airport is planned at an Ethly.meﬂﬂ
380 m above MSL. The mont adly
{  maximum and,6 average ot
of - imum
temperatures for the hOttEStgrgﬂdegrec
the site are 40- degree and Z&-.

centigrade respectively. The _ﬂffe‘:ttl;g
gradient” is _0-18%. Dcte_rmlnc
length of the_ runway required at the
proposed site if the  basic runway
length is 1900 m.

Calculate the actual length of runway
from the following data -

1. Airport elevation = RL 100

2. Mean of average daily
temperature = 32 °C

3. Mean of maximum daily
temperature = 36 °C

4. Highest point along the
length = RL 99-5

Lowest point along the
length = RL 97'5

6. Basic runway length L = 600 m

on

Explain wind coverage and crosswind
CoOmponents. Draw the sketch showing

acroplane components-
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